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(Performance Criteria)
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(Closed Loop)

HE =

2F

=
=
e

131 mH_u_Hw
. ) o)
ro | W 25
Kol | S =
- M
N I
Ol ®ls Ha | w
DElgu A B S
B |z Ol | B0 D Al
U oE lm P8
6 g m | U W |
oot | g RE |
B R0 AT| O mw_: Mo
%E&m M ol | S
ol Kls|org, . z
wr 0 | 0 g %Eé# =
G50 Wl By Tw | &
Fa R =S|k
wrwr |2y, 3@ UK o
o<k <™ @:_.__Jn_x_o o
stE|=2 w2 M |
_ | ®BR W
KIS | Sy A
AN S R
aiugw R
e e e I e
(W) o HOO~ vl o_._ =0
B0 A S R MQ
B R ==
u IZ ez @RS 0o
o 5 | B gl igs
S (B ST Zol L=
L T I I Bl
SokloT | mu S |
R0 R0 | LA | oAl 0 | S
0l o ™| Fy Mg |
SEANR IR EN IR
Ko |ouwr | =& | SMorE | mol
I
or | w0 | Ro = =
Ro|o | 0 0
&




